[image: ]

[image: ]
[image: ]






[image: ][image: ]






[image: ]
[image: ]

































image5.png
LT ez

| EEE - (25 - %129
(=AW 352570 » o TxUE352RIE - — ISP 2R FZ( 25 +x )T -
(2)4h4k# 1 00T » Wik E AP Tynik » #h2k:BR TF(I100—y)T ~
(B)—F7R KA | 25K - EEH Tydr » A 12Xy MRAK °
LA xEFG Rt - D eBir T 3758744 - B F(x—375)%&F

ag Rt -
(S)EF Moy @Al AT X5 w LA N 205 » AlEAEC 12 )

(6)H 365N IFLagslhE -y N AR — & - FHITRRER(365 ))& -
2| REBRARE ST LABY T EERNF 7 SESER o (Bitsman - %205

)y by %7 7=y
(2) deyT o R TIE v p
&) ol T4 :\ . yx7
4 e T T - . 7y
() BT Ly — T e

3HHEE X TEHMxES4 7 (RS 5 - %205)

(Dx+54=132 [ (2)520—x=312
x=132—-54 i x=520-312
=78 i =208

(3)3xXx=84 (421 6+x=36
x=84+3 i x=216+36
—28 : =6




image6.png
SB/\8EJT FKREIH e _J

8 IEEFS A

(DF @A 4B 05 — 18 @ o) @ A 4e Ao -
()EF e KM=k XERX6

| FTESESMORERESL 7
[ A @

7

o
q

7

(A 2 250

GEA @ 25)

4X4X6=96 : TXTXO6E=294

SRERAEILE

(FA © 22 R)

10X 10X6=600
B QeFH At K 294FH s % 600FF AR
2/tErEE » TEWB—EIESREMERAE FRIREMILER X ? 8224
FHEAF?
¥ :5X5X6=150
Z:BXBX6=384
5 8 8 384—150=234
5 8 8
[ [Is
5
¥ z
G 1 2 4)

o Ley Rk mAR b K - 48 £ 234 FF a5

i tie i s - 0 ) o 5




image7.png
EC-S A S Smss
82 ) EjSRERmEa

Feramo @ =X T+ EXFH - HX X2
=R M@mAR X 2 +Em A X &

SERAEIS « 96H

| TERAH#HIREAHESES L 7
(2

21

g s 25

[ N
(16 X5+5X21+
21X16)xX2=1042

BX8X2=128
10xX8x4=320
128+320=448

(25X 15+15x8
8x25)x2=1390

B L4BFH AN A 1390FH AR A 1042FH AN
2 IBBUEFIEIREE TR ©

(D — Bk akey A8 am
RO ~ BAETNG &
mAEAE S VT N ?

S(2)— B A T 6 8 3L 4 5y
N R P o
o - G B A BTy s 2

(BX6+6XT+TX8)x2
=292

768 +(8xX8)=12
BXB8X2=128

12X8X4=384
128+384=512

& 292FF i & 51 2FF a5

3




image1.png
$EtET Fuzedggm
7 AESRAARSBIDEER) L ...

ERLEETR

A sk B 0 SR AT IR AT R Aol oy B - B il 2 3 09 O sk AR -

~85H

| HURE -

(D— ARk EAH 40T » 5k Txnik - —HowdkZ( 40+x ) »
()BT RA X » T fix L6250 » skt —4AH( x +250 ) -

2/ REERER RTINS - BHHEE -

(D& G AR 944 @ o &FAR
A AB - K & R e fr & AR
— A1 831 - hr &R
% 1@ 2 H

94 +x=183
x=183—94

89 1m
o Loy WSS FESE (LT M T EERL 6N - T
o R29 R - WSS F38 T ERRAXDT - F N T
B S MR 2 : — BT ES TN - T4
L FESL A
y+29=238 : 16+x=57
yv=38—29 =57—16
=9 =41
%9k E AR





image2.png
gEttEEsw XeamEm =)
72 ) AFRARBOBERN) . ...

A B BE P SU P SR AT R Ao ey B - AN A Aok 2 64 O7 SR RE AR -

I
()= .50 2 Lt s - 44 #5500 5% 1A By 25 S 14 -
PEERIF( 50—y VAR -
(2)— 3 B 8 Fe A v 25+ Lo S T8 89 L Fekn 8 2 -
WAC -8 s -
2 KBS ST 0 EHEEE -
(D— BTy Tegses - AT 12 ()5 RAE F % x - £ o
A SRR | 32T 0 E e AL T S A - AR 6
SRR EEZ LT ? T e ARARIBR R T B VN7 2

y—12=13 x—5=76
y=13+12 x=76+5

=25 =81

x
| 23k » #7525k
SRR A IR E R 2

Tyt EHRF6E2T -
ERIET 2L

x—12=52 80—y=62
x=52+12 y=80—62
—os4 =18

PETYrS PENEYS

@Jmmm




image3.png
gEttest FueaggrE =TES )
73 ARSRAREMGEEER) L. ...,

\{ifi BB - SR AT R A T R Ao o B oA ORIR 73 0 O kAR -

~B8H

| BEMKREREEYIHEN - BHEHEE -
—EdEx 2% —MBAT Yy —E@FL2 N —1A@F OO ©
C(DF E A — 8- res RF > —148 5 (2)F B & — 8- 4es X - — 18

[BEE R ) AT B VR ?
XX 6=66 [ 42=ypxX3(Kyx3=42)
x=66+6 o y=42=+3
=11 H =14
EEN RS A E- S AN

2 REBEERSETIHES - BHHEE -
()— 5k e § 35 7L » EE6F Hy  (2)F — kAR E X288k T -

s HAFTTO o EERH T W AE T AR P T afk o BT

% LR Ab 4K 2 : || 28k F o da e P T
: 24 TRk 2

35xy="770 : 28xXx=112

y=770+35 x=112+28

=22 i =4

¥X5=160
y=160+5
=32 %:32n





image4.png
gEttesm FueRmgm  =tEe )
= mﬁ%f&ig(%iﬁﬁiﬁ) SIEAMAEST 90K

90
EERLEESTR

| AERSN B+ P R AT R Ao i 6 B - R R TR B 4 O kM -

| FTESHES » B—ERXFIURTEERER 7 72 |1@FTV
(D—EEFReg@mMAXFF Dn > WA > ARBRRES D5

x—9 o5 9xx 25 V] x99 s

(2)— R5E2R A yHA - P 4632M@F 4 - HEPLE 53 F UMM 2
[ 32xy m y+=32 ¥ [ »y—32 m

2 FHISEKXHP  xFBIRSL ?

(Dx=11=42 ((2)378+x=63
x=42X11 : x=378+63

=462 : =6

3 BRSNS BHHER -

Iy €17 7 24845 F - B 886 - (2)%kk Ay L - 23 F X ¥ 5 e
B —SUET Q® o —# . 25 L@ R - BT AR
# A ARERTF ? H 1 2& - &hihH £ b T 2

: y+25=12

y=12x25

=300

% osMm % : 3007





